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1. qEle 0 c;::S;~~c:.:I2:S)C)~ed;::s;~El, A me czsi~:2Sed 8e38e ee~6325)c:.:Ii-2j + 4k ~ B 251e
Czsi~~ e-cJ 8e39\!) ee~GJ2:S)c:.:I-3i + 2j - k ~ eD. A eseo B Elm e00 C;::S;~J5"c:.:I251'/251e g
~6b e~QbEl;::s; 02:5)8e3C):>lfl75).

qElc 0 C;::s;~~ c..:lC)~edzsi&u. C me Czsi&:l5 ecJ 8tl3ge ee~GJ2:S)c..:li+ 2pj - 4k um
q75)6, p c..:l~ 2:5):JZsiEi2:S)qQ)c..:l~. 2:5)D~, A C eeeo 16~e-m2:S)C) c\!)ro @D ~ lfl2:5).

o Czsi~~c..:lC)~edzsi~E) D me ?5)DzsiCzsill&13c..:lzs)8e38e ee~&lZS)c..:l 17i + qj + (s+4) k
E)m q?5)6 6"'~ I 0?5) 8e30:> lfl?5).

2.
a) 8geEl~m" -i + 2j + k, 3i - 2j - k eseo -Si + 6j ~k D~ ec~C) g 8e39\!) ee~GJ2:S)

lfl!53A, B ~t!) C C;::s;~m" ~m 6ZS)eb~", @D eom"Dm"m.

b) Q, 12. ~w.£ ~e ~ ee~GJzs) 8geD~m" 2i - j + k, -3i + 2j - k eseo -ti + 2j + 2k
ec~ ~ lfl& @D 8l5)~. e@e3 t > 0 eD.

1. axb
ii. a x c e~:>",m"m.

l5)D~6c)zsi If! x £1= J88 @D ~ lfl?5)·

iii. t e3 qQ)c..:le~oc:.:l:>6m8m" ~ x (f! x £) e~o",m"(5).
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Answer All questions.

1. Relative to a fixed origin 0, the point A has position vector i -2j + 4k and the
point B has the position vector -3i + 2j - k. The points A and B lie on a straight
line I.

a) Find the vector AB and hence find a vector equation for l.

The point C has position vector i+ 2pj - 4k with respect to 0 where pER. Given
that AC is perpendicular to L.Find

b) the value of p

c) the length of A C and the area of the triangle ABC

d) the acute angle ABC

Another point D that lies on I has the position vector 17i + qj + (s+4) k with
respect to O.

e) Find the values of q and s.

2.
a) Show that the three points A, B, and C with position vectors -i+ 2j + k,

3i - 2j - k and -Si + 6j + 3k respectively are collinear.

b) Suppose the three vectors ~, tz and f are given by 2i - j + k, -3i + 2j - k

and -fi + 2j + 2k respectively where t > O. Find

1. axb

ii. a x c

111. If I~x fl = J88 then find the value of t and hence find tz x (~ x f)·

**************** END ****************
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